MATH 1314

Test 4 Review
18 Multiple Choice Questions



1. Sketch the graph of P(x) = -2x/(x + 1))(3 - x)3 -

- ZscCer))(=x73)

LandiyTerm (2200500 )

J7/J/<%‘ > T Xl = 37:”7)(5

[oad Behatior (ros 0 hL). y of3 ] Rigit T

X - o Fercosh
- x=0 XNt/ =2 3-x=0
X0 El R
7/ /7 foy
( L'ﬂa( qr) (Z MZ/:/} (C&' L;6>
’>/,\ /ﬂéfé eg+ "

o) = A (0+0(2-0) = D




2. Sketch the graph of P(x) =(x - 3)2 (x + 2)2
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3. Find the quotient and remainder for

2x3 -13x2 -10x +19
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4. Find the quotient and remainder for >~ —2x+12  XO<Tzat)2 Synthefie 2
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5. Find the zeros:

a. P(x)=(x-2)3(x%-2x-8)
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6. 3" degree polynomial with integer coefficient given 1, 6i and

- 6i with a constant coefficient 012.
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Popper 29:

Fill out choice A for questions 1 -5





